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NCL -Written test for the Post of Technician Turner (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020,SET A
Section A (Question No. 1 to 70)

1. | Which of the following is used to hold large, frafafed 7 3 fege Iuan a8, 4t 8k SifFafid
heavy and irregular shaped work pieces which | 3R & THUN &I UHSH B ﬁ'ﬂ;f forar ST B, o
cannot be conveniently held between centers: gl & g A T@ AT ol b 8
A) Three jaw chuck  B) Two jaw chuck A) St ST T B) ¢ S Ih
C) Face Plate D) Driving Plate C) Y Wi D) SfdT wie

2. | Lathe beds are usually made of: Y 98 THIG: e a4 8id §2
A) Mild steel B) Cast iron A) TRH 31T B) Tafard gl
C) Stainless steel D) Aluminum alloy C) STRIeR SHTd D) TegHi=as iy 4rg

3. | The lathe accessory used to give extra support | AY ITWYT T d 3R TdaH & forg Sifalked T
to long and slender job: A & o sxwTa oo ST B, 1 82
A) Dead centre B) Lathe Dog A) RR &% B) WRIG 3{Cehi!

C) Steady rest D) Lathe Carrier O RR® D) ¥R1G dl8h

4. |To form small length taper for mass | §9 T W IdTE & Y 'BIdt TR’ 991 & forg,

production, the preferable method is: JeR b1 A Y 1 8?

A)Compound rest method ~ B)Form tool A) FISE e fafy B) BIH ¢

C)Taper turning arrangement C) TR <1 sgaRa D) ¢d WP HIpdc fafy
D)Tail stock offset method

5. | Three main classes of fits used in BIS system | §133uy yurelt & IUdT fhT o ardl fiie & &
are: qT CURRE RS
A) Clearance, transition, interference A) TR, E’Flﬁrl'QF[ E[LURLS|
B) Loose fit, sliding fit, expansion fit B) XY fthe, g flhe, fawR fiee
C) Round fit, flat fit and expansion fit C) Mt fibe, Ture fhe 3R fawar fibe
D) Tight fit, push fit and medium fit D) ¥V fihe, aeH flbe 3R Aey fihe

6. | The purpose of tumbler gear in lathe is to : Y HIaqeR MR &1 Jewg o d Y w1 62
A)Cut gears B)Reduce spindle speed A) TR Frer
C)Give designed direction and movement to B) Y1 St Tl HH DHAT
the carriage C) a8 &) fexm 3R i &

D)Reverse the spindle direction D) &I 1 =M DI el AT

7. A fastener is designated as M6X0.4. If the | T BRER BT M6X0.4 & =T | A1 fbar T g
length of threaded portion is 6 mm, then | afg 9S8 U HI TaTS 6 i B, O IuA Q?H Gl
number of threads available are: TReAT T g
A) 2.4 B) 3 C) 20 D) 15 A) 2.4 B) 3 Q) D) 15

8. | Multi start thread has which of the following | Accl TC 8 H RITTet wIe 9 & Iruef fRafarad ary
advantage on single start thread: g g
A)Lesser power loss A) FH foorelt g1 B) U AC¥H & fold A IAfd
B)Lower advancement for a single rotation C) HH TR & D) 3= gyur
C)Lesser bearing area D)High friction

9. | Select the change gears required to cut a 4 start 1.5 e} O aTel 4 W O 6l P & o smawas
thread having a pitch of 1.5 mm. The lead screw | URad R &1 T B3| <its &p A 8 it o = B
has a pitch of 8 mm. A) "45/60" B) "80/100"

A) “45/60” B) “80/100” C) "60/80" D) "80/120"
C) “60/80” D) “80/120”

10. | A number consists of two digits. If the digits e &1 H < 3 € | TS 3idh (U1 SHIE 3oy o
interchanges place and then the new number is Fed dd g iR fihe o I T 797 FeR SrST STt g
added to the original number, then the resultant N g} T g | O feog & gR1 faursa grfte
number will be divisible by: A) 3 B)5 Q7 D) 11
A) 3 B) 5 C) 7 D) 11

11. | What is the ratio of volume of hemisphere and a | Temef AR I W uREfed Ridex Hemad &1
cylinder circumscribing this hemisphere and | 3fJurd T 2 e3P YR I9H 272
having a common base: A)1:2 B) 2: 3
A) 1:2 B) 2:3 C)3:4 D) 5: 4
C) 34 D) 5:4
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12. | How many cubes of 2 mm can be put in a 8 IH! Afadhd sidd H 2 i o fdhd agsy Sral o1
cubical box of 8 cm? Tahd 87
A) 6400 B) 400 A) 6400 B) 400
C) 64000 D) 16000 C) 64000 D) 16000

13. | Ifa:b:c = 3:4:7, then the ratio of (atb+c):cis - | A% a: b: ¢ = 3:4:7 §, M(a+b+c):c BT SUTd T BRI
A)2:1 B) 3:1 C)2:3 D) 1:3 | A)2:1 B) 3:1 C)2:3 D) 1:3

14. | A box has 210 coins of denomination of 1 | T &l H 1 3T & 3fR 50 UY I & 210 Riah g
rupee and fifty paise only. The ratio of their aq%wfﬂanﬁm S{UTd 13:11 B TH I &
respective values is 13:11. Then what is the | Ryam! & Tam o1 82
number of one rupee coin? A)36 B) 78 C) 65 D) 120
A)36 B)78 ()65 D) 120

15. | Locknut in the micrometer is provided for HIShIHICR | dldp-Ic 15T B & 1T UeH fHaT ST
which function? /7
A) Control the movement of spindle A) 431 & Tfafafd & Frifid A o forg
B) Lock the reading after setting it over the B) IHUNT TR AT HRA & F1G TS B Al B b

workpiece NI
C) Measure the workpiece accurately C) &l &1 ¥ Uy &I {1 & forg
D) Lock the micrometer when it is not in use D) HISHhIHIER &l Tl B & fold g 98 I § 7
&l

16. | What is the use of dowel in assembly ST dh-1h | Slddl BT SUTNT T 87
technique? A) & T &l I S YT BT TCidh RO
A) Accurate positioning of two or more parts | B) <] I Udh AT YR HAT
B) Securing components together C) fefeiT @t siazadar DI GH BT
C) Eliminate the need for drilling D) fthc &t Gardr S
D) Increase the efficiency of fit

17. | Iflog,(9/16) = -(1/2) then what is the value of x: | TfS logx(9/16)=- (1/2) T x BT H AT BIFoTA:
A) -3/4 B) 4/3 A) -3/4 B) 4/3
C) 256/81 D) -256/81 C) 256/81 D) -256 / 81

18. | Which bearing withstand load is parallel to its DT SR 3Ot @ & JHAMIGR YR &I erdl 82
axis? A) e Saf B) YU 9afT
A) Needle bearing B) Thrust bearing C) ITeT ST D) faurfea safem
C) Plain bearing D) Split bearing

19. | What is the value of logs (125 * 625/ 25) : Logs(125 * 625/25)T HIH T HIfo:
A)5 B)3125 Q) 6 D) 25 A) 5 B) 3125 Q)6 D) 25

20. | In a 729 litre of milk and water, the ratio of | 729 Wiex Y SR UM H gY 3R TFI &I 3IUd
milk to water is 7:2. To get a new mixture | SR 7: 2 1 7: 3 & 3UTd H g SR UM &I 41
containing milk and water in the ratio of 7:3, | ffrsfor e B & forg, fat @ o urt \_:ﬁ?':.T ST
what amount of water to is be added: AqMey?
A) 81 litre B) 71 litre A) 81 e} B) 71 ®lcR
C) 65 litre D) 78 litre Q) 65 e D) 78 e

21. | Which of the following instrument is used for | 7% & ¥ fHFT IUHRU BT ITTNT Tdg H! THAA 3R
checking flatness and squareness of a surface uiferTiar @ it & fere farar ST 82
A) Try square B) Bevel gauge A) TTS WhTIR B) 99 7ol
C) Slip gauge D) Vernier height gauge C) g 9 D) 3R g15e o

22. | What is the least count of a vernier bevel IR dad Uicdex & Tad HH e 1 §7
protractor? A1 B) 5' Q) 10 D) 0.5
A) I’ B) 5’ C) 102 D) 0.5’

23. | Which of the following instrument is used to | FHTIRId & ¥ B T IUBRN TR AT BT Figdl
check concentricity of outside diameter? S & forg IuaiT fara ST 82
A)Vernier caliper B)Outside micrometer | A) AR HfWR B) TG HISehIHIcR
C)Dial test indicator D)Dial caliper C) Sd YI&U Hobhdd D) S

24. | What is the number of grade of tolerance in BIS SIMsTy U H H%'EUKH IS P =T T §?
system? A) 16 B) 17 C) 20 D) 18
A) 16 B) 17 C) 20 D) 18
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25. | In order to achieve a specific surface finish, | [ARRIY ¥dg uREwI Urd o=A & fog, U fdg Ol
in single point turning what is the most | W FafEd A & forw T Tgayuf HRE 1 87
important factor to be controlled : A) T o TIfd B) il I TTexTS
A) Cutting speed B) Depth of cut QWS D) JUhRU ¥ bI0T
C) Feed D) Tool rake angle
26. | Micrometer works on the principle of: AR [y Rigid )R &9 $al 67
A) Screw B) Bolt A) Ud B) dice
C) Stud D) Nut and Bolt QxS D) 7¢ 3R diee
27. | The factor responsible for formation of fafesd o & 7167 & o D11 HRS OHER &7
discontinuous chip is : A) TH HTc B T 3R T8 Y& BI0T
A) Low cutting speed and large rake angle B) B PIc B T 3R BIC b B0
B) Low cutting speed and small rake angle | C) 3= Bl B 1Td 3R Bl XD DI
C) High cutting speed and small rake angle | D) 3 Bl B T 3R TS XD DI
D) High cutting speed and large rake angle
28. | Which of the following operation is done on | R&T@ &I Sded &I dgH & forw 7 o ¥ ®F-
riveted joints to increase leak tightness? TR ZacS Sisl WR o SfraT 52
A) Shot peening B) Bucking A) TIferepT TS B) E%UT '
C) Fullering D) Spot facing C) PeiRA D) ¥Te i
29. | For tapping cast iron using a machine tap, TRIA CU HT ITINT HR didhd g &g & 1o1G, <
the rake angle of the tap is: BT DI HT §?
A) 3 degree B) 10 degree A) 3 fsit B) 10 f&Hi
C) 20 degree D) 12 degree 0) 20 &4t D) 12 f&3it
30. | An outside micrometer has negative error. The TS 188l AP AR H AHRIAD ?1’[% g1 Fufeiea &
correct reading can be taken by which of the T fory fafer O gt Sfem < o gt 22
following method? A) aRdfde ST & THRIAD Ff SheT
A) Adding the negative error in the actual B) grdfae ST I THRED -ar]% ARG
reading C) aRdide ST H § IR AHRIAD (¢ Se
B) De(cilgcting the negative error from the actual D) dRdfde ST | & IR THRIAD ?1’[% el
reading
C) Adding the twice negative error in the actual
reading
D) Deducting the twice negative error in the
actual reading
31. | Knurling in a lathe is done at what speed? WY o e fog i I B S 82
A) Equal to turning speed A) ﬁl‘s’ T & SRR
B) Twice of turning speed B) HIS 1 TIfd BT G
C) One third of turning speed C) Hrs 7fa &1 U fagTs
D) One fourth of turning speed D) HIS TIfd T U AUTS
32. | What is the least count of vernier caliper in | TR bR o Ja4 HH T=AT T g oA 19 qsd
which 19 main scale (19 mm) divisions are | ¥bal (19 T faueH & IR Wd & 20 9
divided into 20 equal divisions in the vernier | fgyreq & fauiforg foar o o2
scale? A) 0.01 fort B) 0.05 foeft
A) 0.01 mm B) 0.05 mm C) 0.02 Y D) 0.19 oY
C) 0.02 mm D) 0.19 mm
33. | Find out the rpm of the lathe spindle for 200 mm | 200 f&H} SR @I 31.4 Hiex / fiFe 7fad Y H1ed & forg
bar to cut at 31.4 m/ min: Y YA & HRYITH J1d DI
A) 200 rpm B) 100 rpm A) 200 3RUTH B) 100 3fRUTTH
C) 400 rpm D) 50 rpm C) 400 3RUTTH D) 50 3/RUITH
34. | What is the function of cross slide? B WSS BT BT R T 67
A) To supply feed to tool post A) JUHRUT GRE B TS BT 3MYfd BT
B) To supply feed to chuck B) <[ 1 WIS b1 3MYfc| BT
C) To supply feed to tool C) USRI B TS B 3Mfd BT
D) To supply feed to tail stock D) < Tleb Bl Bls Bl SMYfef b1
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35. | What effective change will occur to the tool | AfG HIET TA B AY W H& P SHdTs & d I [T
geometry if the cutting tool is set below the | 77§, df ga SATHfd & a1 THTdt ufkadH grm?
centre height on lathe? A) 3 FAORY P §¢ STl g
A) Front clearance angle increases B) 31 FIRY HIUT HH B SIIdT &
B) Front clearance angle decreases C) 31 TN DI JHM I8 &
C) Front clearance angle remains same D) 3 FAGRY PHI0T I gromare
D) Front clearance angle becomes zero

36. | A CNC lathe is programmed and set to turn a | U T WRIG HI URMH &SI TR § 3R 50 Bl &
diameter of 50 mm, but on the trial run the | T HI AT HRA & T Je BT T g, TG TAE0 TR
diameter is found to be 50.1 mm. Which of the | &g 50.1 foeft urar man FAufafed & @ &9 9
following will ensure correct diameter during | Iared & SR et AT gfAfgd HUT?
production? A) T SHTHT B 0.1 fiyed 9g1¢
A) Increase the tool offset by 0.1 mm B) ¢ TBae &1 0.1 foredt ety
B) Decrease the tool offset by 0.1 mm od 3fferde HY 0.05 iyt Temg
C) Increase the tool offset by 0.05 mm O\1e2x ok i
D) Decrease the tool offset by 0.05 mm D) & 1 0.05 Rl e

37. | A plug gauge which has its ‘Go’ and ‘No Go’ | T Wl Tl fSgaT T 3R N M’ PR TP & BR
sizes on the same end are known as: R A & &1 o1 Sl olar 22
A) Continuous plug gauge A) FRER @ 7 B) TAIfa=Nd @ I
B) Progressive plug gauge C) R U8 @ I D) 399 U8 Wi 75
C) Single ended plug gauge
D) Double ended plug gauge

38. | The negative rake angle is generally provided on | FHRIAD Y& BV THHG: FHUffad Irel 94 ad
the toll made of which of the following material: | TR W& foaT SraT &
A)High speed steel B)High carbon steel A) f& swrg B) 3 STe SXUTd
C)Tool steel D)Tungsten carbide C) e 391 D) TR PSS

39. | A taper ring gauge is used for checking: T IR 1 TS &1 IuanT a1 Sifem & for faan o g2
A) External taper B) Internal taper A) T8 TR B) 3TN CWR
C) External thread D) Internal thread C) I US D) 3 ¥s

40. | The angular contact bearing are designed to take | HIUNT Ub SN HI G TSR & HRI B a1 & forg
which of the following type of load? IESIERAE R ISR
A) Axial and vertical thrust A) 31&iT 3R FafeR Ie
B) Axial thrust B) 31efiT U
C) Radial load C) ITA R
D) Axial thrust and radial load D) 31&lT ¥ iR AeTd 4R

41. | ‘Go’ side of the plug gauge will have the | TS & 7V fe &1 AN Siid & fAHIRAd TATHT
diameter equal to which of the following | & SRR BIT:
dimension of job? A) STe BT IRAfd® THR
A) Actual size of the job B) Siid 1 3B TH 3MHR
B) Maximum size of the job C) SITd BT FAaH MBR
C) Minimum size of the job D) IWRIad gt
D) All of the above

42. | What is the offset to be given to produce taper in | Ta%I® HHYC Y T TR ITF B P fold &t oI
a tailstock offset method, if the bigger diameter | qrefl 3fhac R g, Il TS Y 60 ot 2 AR BT
is 60 mm and the small diameter is 40 mm, | R 40 AH B, TR B} daTS 100 FH | 3R ST B
length of taper is 100 mm and total length of job wa@ﬂg‘ 200 foret &
is 200 mm? A) 10 Toet B) 5 fayet
A) 10 mm B) 5 mm C) 2.5 foredt D) 20 foreft
C) 2.5 mm D) 20 mm

43. | In a turning operation, two tools X and Y are | U e+ BRI H & IUHRUN X 3R Y BT ITAT foban
used. For tool X, n = 0.3 and C = 60 and for tool | TRT g1 IUBUT X & foIT n=03 3R C=60 3R
Y, n=0.6 and C = 90. Both the tools will have | JuHIUI Y & T n=0.6 3R C=90 | I IYBIUN &
the same tool life for which cutting speed? U IUBT Sita- & oIt 1et &1 i 1 grfte
A) 50 m/ min B) 40 m/ min A) 50 Hiex / fiFe B) 40 Hiex / fiFe
C) 45 m/min D) 55 m/min C) 45 Hiez / firte D) 55 Hiex / firfe
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44. | Match the following: fafaRad &1 fiem:
Machine Components Material used AL 3fagd ST &1 Tt At
A. Machine tool bed 1. Forged used | A. A IR0 &9 1. SITelt ST feba
B. Machine tool spindle 2. HSS B. TR Iuar0T ¢t 2. Y9UdUY
C. Cutting tool 3. Bronze C. DT dTefl 3UDRU 3. PIY
D. Worm wheel 4. Cast iron D. 3 I 4. Fafdd drel
A) A-3,B-4,C-2,D-3 A) A-3,B-4, C-2, D-3
B) A-4,B-3,C-2,D-1 B) A-4, B-3, C-2, D-1
C) A-1,B-2,C-3,D-4 C) A-1,B-2,C-3,D-4
D) A-4,B-1,C-2,D-3 D) A-4,B-1, C-2, D-3

45. | Match the following: fAgferiad & e
Requirement in the design of jigs and fixtures o 3R R & feug" # sa=udmard
P. Heavy clamping force on the work piece P gHUNT TR HIY giftiT wig
Q. Clamping on rough surfaces of work piece Q. THYT B! YR Tl WR FfthT
R. Four work pieces in a line to be machined R. T Ufad & IR 9huy &) U aifeT & ﬂ?fﬂ:ﬂ%
in one loading F & fog
S. Drilling and reaming of work piece in one S gHUg &) Eﬁ'ﬂ'[ 3R AT v AfET
loading
lliecommenQed device.: 1 EIUFﬁﬁT[ s $ oy =Y

. Clamp with a floating pad R

2. Slip renewable bush g I T &[&l—q LR
3. Indexing bush = EN
4. Equalizing clamp 4. W Rk
5. Strap clamp 5. el Sk )
Choose the correct match option el fArar fawey T’:ﬁ
A) P-5,Q-1,R-4, S-2 A) P-5, Q-1, R-4, S-2
B) P-1, Q-4, R-5, S-3 B) P-1, Q-4, R-5, S-3
C) P-5,Q-1,R-2,S-3 C) P-5,Q-1,R-2, S-3
D) P-4,Q-5,R-3,S-2 D) P-4, Q-5, R-3,5-2

46. | In a CNC feed drive, a stepper motor with step | T UGl IS T2 T 1.8 TS & P07 I@T WR
angle of 1.8 degree drives a lead screw with pitch | Hiiex 2 forft figr a1qt offe &% &1 gr2a oxar g1 39
of 2 mm. The basic length unit (BLU) for this | g1gq & forg g1l eTs 3bTs (BLU) T 82
drive is: A) 10 B) 20
A) 10 microns B) 20 microns C) 40 ATSHH D) 100 HISh
C) 40 microns D) 100 microns

47. | A sells an item to B at a profit of 10%. B sells A, BPI 10% Y WWW@W%I B, A P aTUg
the item back to A at a loss of 10 %. What is 10% gﬁmaﬁéﬂ?ﬂ% T A9-¢7 b SR § ol
correct statement about this transaction? HYT R E?
A) A neither loses nor gain A)ABI AN S g TR Ay
B) B loses 20% B) B &Y 20% BT —g-—g
C) A makes a profit of 20 % Q) A BT 20% WY GEL
D) A makes profit of 11% D) A BT 11% ATH 831

48. | The least count of a 200 mm long spirit level is | 200 firHt @ fRURe Wdd Bt Ta@ HH A 10 b
given as 10 sec per division. The gradient of the | Ufd fedioM B 1 T Hiex R Aad &1 9 dTa [Rufve
spirit level expressed as mm over one meter is: I D ST HIT BI?
A) 0.048mm B) 1.048mm A) 0.048 foret B) 1.048 faret
C) -1.048mm D) 0.48mm C) -1.048 firdt D) 0.48 firdt

49. | The interpolator in a CNC machine controls: e e 7= § yaius a1 o= el g2
A) Spindle speed B) Coolant flow A) R DI T B) ffdd® Uarg
C) Feed rate D) Tool change Q) Ble R D) SUHRUT URGd

50. | Fixed type snap gauges have ‘Go’ and ‘No Go’ i UpR & WU A H T 3R A M IS RR fory
gauges ends on which of the following side? 3R gId 87
A) On opposite side B) On same side A) faodia fe=m B) THM fa=m
C) On both sides D) On either side C) el 3R D) faadt oft 3R
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51. | Match the following:- frafafed &1 fiem:-

List-1 List-11 Tal- | Tait-|
A. Chatter 1. Too high feed A HChHTH 1. 9gd 3f¥H Wis
B. Poor surface 2. Lack of rigidity in B. Tferd gdg! 2. J&R, R a1 U

finish fixtures,bar or workpiece IR o HERA Bl HH
C. Cutter burrs 3. High cutting load C HeI sy 3. B BT dre
D. Built-up edge 4. Radial relief too D. frrT fAffa @ 4. 3ffad= Yega RAw
formation great Tt W

5. Not enough lubricant A)A-2, B-1, C-5, D-3 >
A) A-2, B-1, C-5,D-3 I
B) A-2, B-1, C-3, D-5

B) A-2,B-1,C-3, D-5 C) A-4, B-5, C-2, D-3
C) A4, B-5,C-2,D-3 e
D) A-4, B-2, C-3, D-5 D) A-4, B-2, C-3, D-5

52. | The angle of elevation of the top of a tower from | Tdh [BIEGI ﬁ'g; ) Tdh TR & MY TR IQY HIT 30° %I
a certain point is 30°. If the observer moves 20 m | gfe gfdere ¢iar @1 3R 20 Hiex Iaar g, al efar W)
towards the tower, the angle of elevation of the | I&Y HIUT 15° I¢ STAT g1 TR DI HaTS HT 82
top of tower increases by 15°. What is the height A) 173 Ht B) 23.3 |
of tower? C) 273l D) 30.3 Ht
A) 173 m B)23.3 m
C) 27.3m D) 30.3 m

53. | A shopkeeper wants to make some profit by | Td g®MER Al SR WW‘HWW%I
selling sugar. Which of the following would | fRHfeRed & ¥ ®IF I ITGHT 1Y B SfUHTH BT
maximize his profit? A. 10% 1Y TR A=) o2
A.Sell sugar at 10% profit B. 1 foal & S 900 U Ioi &1 ITART HX
B.Use 900 g of weight instead of 1 kg C. I T 10% \qﬂ@tﬁ&lﬂﬁ 3R AT T R GIGil
C.Mix 10% impurities in sugar and selling sugar | g3
atcostprice ] D. JeT T 5% Pt gfg 3R Ioi H 5% B i IR
D.Increase the price by 5% and reduced weight

0
Z};i?A) B)iandii AV B)i A i ‘
C) 1, ii and i D) All are same Q)i if 3R i D) Tl T

54. | A man takes 6 hours and 15 minutes in walking a | T 3{lgH! &I Ugd Ia- 3R a0Y ARt T 1 § 6 €
distance and riding back to starting place. He | 3R 15 fiFe @ &1 98 S @RW Ucd 7 ©e 45 e &
could walk both ways in 7 hours and 45 minutes. | T &R T&bdl §| I RPB JaRI J o4 F I faram
The time taken by him to ride back both ways is: | T TRI?

A)3hours 45 minutes B)4 hours 15 minutes | A) 3 g¢ 45 fiFe B) 4 ©c 15 e
C)3 hours 30 minutes D)4 hours 45 minutes | C) 3 °¢ 30 fiHe D) 4 ©¢ 45 e

55. | If ‘D’ is the bigger diameter, ‘d’ is the small | Tfc 'D’ dgl A g, 'd ‘Bl 3 § 3R I’ TR JhUy
diameter and ‘I’ is the length of the tapered | &1 daTs g, 314 gfdferd oo Fufafad & 9 feas
workpiece, the half included angle of taper is | gRT I SITQT:
given by which of following: A) tan™ {(D-d)/1} B) tan™ {(D-d)/21}

Adtan™ {(D-d)/I} B)tan™ {(D-d)/21} C) tan” {2(D-d)/1} D) tan™ {(2D-d)/1}
O)tan™' {2(D-d)/1} Djtan {(2D-d)/1}

56. | A mild steel rod of dia 50 mm and length 200 | Te 50 ot SORT Pt 3R 200 FFH TS BT TP bl
mm has to be turned to a dia 40 mm in one cut | IWTT B ®I 0.1 FHH/T HI BIS R & Y TILILH
for full length using HSS tool with a feed rate of | IUHITT BT IUTIT b Yuf GaTE & folg U Fe | 40
0.1 mm/ rev. What is the turning time with speed | fiyrf} samg a6 HigT 81 200 3RUTTH 7Ifd & 1 Hig~
of 200 rpm? ST Y =T gINIT?

57. | A mild steel rod having 50 mm dia and 500 mm | 50 f&H} T 3R 500 i et gop) ST TS BT
length is to be turned on a lathe. What is the | Toh WRIG TR - AT ST B @E,’aﬁ?iaﬁ% ot
machining time to reduce the rod to 45 mm in | 34 & forw ARAfT T FT BN Afe U U H
one pass when cutting speed is 30 m/ min and | T &t fF 30 He/He 7 3R Wig 0.7 Y9/
feed is 0.7 rev/ min? 2
A) 2 minutes B) 3.74 minutes A) ) '&[:'Er B) 3.74 '&[:rcr
C) 4.56 minutes D) 6.67 minutes C) 4.56 firte D) 6.67 fFe
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58. | A 150 mm long 12 mm diameter stainless steel | Tdh 150 it & 12 fiedt o gt STRIEh 3w s
rod is to be reduced in a diameter to 10 mm by | @ WRIE W T &R 10 ol T 9% &4 favar ST
turning on a lathe one pass. The spindle rotates | 81 ¢t 500 JRUTH W A § 3R IUHTT 200
at 500 rpm and tool is travelling at an axial | firl/ffFe &t e fa @ wfqw= g1 fardt 3/fome &
speed of 200 mm/ min. What is the material e e B &R T gRf?

removal rate in mm®>/ min? A) 75384 B) 5674.6
A) 75384 B) 5674.6 C) 3476.5 D) 8435.2
C) 3476.5 D) 8435.2

59. | What is the angle at which the compound rest | g8 P10l 3T § f519 WR 150 et el 3iR 80 et A

would be swivelled for cutting a taper on a Y a1 B & @ﬁ R HUNES W GRI TH TR
work piece having a length of 150 mm and HIeA & oL faT A1 81 B8 F TR BR R IaY

outside diameter of 80 mm. The smallest Ber 3T 50 fonft SR sfawaes @arg 80 et gt
diameter on the tapered end of rod should be Bl

50 mm and required length of tapered portion | A) 80.28 fS% B) 15 f&t

is 80mm? C) 45.6 Tt D) 10.62 f&3it

A) 80.28 degree B) 15 degree

C) 45.6 degree D) 10.62 degree

60. | A 150 mm long 15 mm diameter stainless steel WY 99 U gRT U 150 THHT & 15 fHH o ara
rod is to be reduced in a diameter to 12 mm by STRIEh 3w s B A H 12 findt 9 Hu fear
turning on a lathe one pass. The spindle rotates | STFT 81 4R} 500 SRUTTH TR AT § 3R SUHRIT 200
at 500 rpm and tool is travelling at an axial | firfl/fFe &t siefig fa W Tfaw= B 3%UTd s Y
speed of 200 mm/ min. What is the time | HfT & o snazas gHg Ta1 g2

required for machining the steel rod: A) 2 e B) 2.75 fi-e
A) 2 min B) 2.75 min Q) 0.75 fiFe D) 3.75 fiFe
C) 0.75 min D) 3.75 min
61. | Which one of the following is correct Taylor’s | F@fRed & ¥ HH T TR B IUHRYT Sfia— Bt
tool life expression? TR 82
A) Tv'=C B)vI'=C A) TV'=C B) vI'=C
C) CVv'=T D) None of these Q) CVv"=T D) 590 9 &S Tl

62. | If a job is to be tuned from 60 mm dia to 50 | g fHT Sie BT 60 fEHt & I 50 FPEft T
mm dia. If the maximum depth of cut is 2 mm. | &= f%a1 ST 81 Tf Fe B HfHaq Texrs 2 findt
Then how many passes are required for | g|al W= & forw foram Uy siazas g2

machining? A) 3 B) 2 ) 4 D) 78 ¥ PIs ol
A) 3 B) 2 C) 4 D) None of
these
63. | If the cutting speed is 100 m/min and dia of the | Tfe ®Te~ 1 Tfd 100 Hex/Mre § MR ST ™ 200
job is 200 mm. What is the rpm? fonft 8, o eRdied T grm?
A)159.2 rpm B)15.9 rpm A) 159.2 3RUTH B) 15.9 3RUITH
C) 1592 rpm D) None of these C) 1592 3RUH D) §79 ¥ ®Is ol
64. | Which of the following is not used for taper | FEfREd ¥ ¥ &9 W Y W W T & forg IwamT
turning on lathe? ol foran e
A) Form tool A) Bid [l
B) Swivel compound rest B) RIdd HUSS e
C) Simultaneous longitudinal and cross feed | C) THGIC® et 3R BT WIS
D) None of these D) 371 A s gl
65. | In facing process, length of tool travel is which | BRI UfohdT H, IUHUT AT BT dars Fafafad # 9
of the following? DI g?
A) Length of workpiece A) THYT B daTg B) IhUI & s
B) Radius of workpiece C) THYNT BT TN D) T it

C) Diameter of workpiece
D) All of these

66. | What is the remainder when 2%°° is divided by | 2%°° &I 17 ¥ faHTioId - IR F1 /Y BRI?

17? A1 B) 3 Q) 14 D) 16
INR B)3 () 14 D) 16
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67. | When digits of the number 13 are reversed, the | 51§ TS 13 & 3f IaIe WId &, dl T=AT 18 T d¢
number increases by 18. How many other two | STdl 81 fad= af 3ip! dTell T-HT & 3ih Idc o W
digit numbers increases by 18 when their digits | ¥wa7 18 9 §¢ Sllal 7
are reversed? A)5 ' B) 6 Q7 D)9
A) 5 B)6 ()7 D)9
68. | A hollow iron pipe is 21 cm long and its external | T WRIA g P UIZY 21 T TET g 3R 3BT A8
diameter is 8 cm. if the thickness of the pipe is 1 | =T 8 YHI g1 Tf UISY BT AerS 1 A4 g 3R g BT
cm and iron weight 8 g/cm’, then the weight of I 8 UTH/AHE §, ) UTSY T doi- T 27
pipe is? A) 13.6 T B) 36.96 fobuT
A) 13.6 kg B) 36.96 kg C) 3.696 fobuT D) 23.98 fb.am
C) 3.696 kg D) 23.98 kg
69. | If the surface area of cube is 150 cm’. What is Jfe T BT Ude! &7Hd 150 YA 5| 7gd BT JA° §
the volume of cube in cm® 3{TId-T T gIIT?
A)125 B)216 C)343 D) lo64 A) 125  B)216 C) 343 D) 164
70. | 39 persons can repair a road in 12 days, working | 39 Jfad 12 ff & Ufafe 5 9 HH IR UH TSH B!
5 hours a day. In how many days will 30 persons, | ARFHd B Tbd o | 30 Afad UfdfeT 6 T HTH B
working 6 hours a day, complete the work: fPaa feai g ord R B
A) 10 B)13 O 15 D) 17 A) 10 B) 13 Q) 15 D) 17
Section B (Question No. 1 to 30)
1. | First country to appoint Lokpal or equivalent to a | N UTd TT ApUTA &b THBE ﬁqaa HA Il ugal
Lokpal is: Ty g d s AT 8?
A) Brazil B) Burma INEISIS] B) ¥Af
C) Sweden D) India C) Wred D) HIRd
2. | Which country is the largest producer of Rice? A BT GaY AP IATCH o FHfRgd J S Iq
A) Brazil B) China 2
C) United States D) India INEISIES B) A
C) TG I D) HRd
3. | The leaning temple of Huma is dedicated to BHI DT FbT g3 iR ford fgg Wiar ot Tq1Ud 52
which Hindu God? A) B) XH
A) Shiva B) Rama C) 9 D) 8JH
C) Krishna D) Hanuman
4. | The journalist who refused to accept ‘Padma g TR 7 T yyor DI WIHR B I STHR P
Bhushan’ was? e T, faforfaa A& D %?
A) Shekaran Nair B) Khushwant Singh A) DA AR B) gsaaa Rig
C) Ratan Thiyam D) Arun Shourie C) ¥ad g D) 330
5. | Rajya Sabha member has a tenure of? TSTIHT TR &1 HIIBT [T aIdl &7
A) 8years B) 6 years A) 8 I9Td B) 6 HTcT
C) 4 years D) 2 years Q) 4 91 D) 2 91t
6. | During an emergency all of the following | 3MUTdTaA fRUfd H fAyfafad | fo= Hayd SHRBHRI
fundamental rights are suspended, except: P Bred gt Fdifad &= fed v &
A) Freedom of Association A) 9 EARSRERI
B) Freedom of Speech and Expression B) HTVUT 3R 3ifcafT ot Wd=rd
C) Right to Life and Personal Liberty C) St 3R AT WA BT 3fUBR
D) Freedom of Assembly without Arms D) BRR & T quT Pt Wdiardn
7. | The National Anthem was adopted by the TIAY™ GHT gRT REIE DI B O T
Constituent Assembly in: A) 24 TS 1949
A) 24" May 1949 B) 24 TTASR 1949
B) 24™ November 1949 C) 24 TG 1950
C) 24" January 1950 D) 24 S 1950
D) 24" June 1950
8. Who holds the power to increase the number of fPofafead 9 I T =TaTeg o g B
Judges in the Supreme Court? TS TG P i Wl 82
A) Prime Minister B) President A) T = B)
C) Parliament D) Ministry of Law C) g D) T
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9. What is the International Date Line? GERT'@T{ ot Y %?
A) It is the Equator A) T8 YA 3T §
B) Itis the 0° Longitude B) g 0° SRR &
C) Itis the 90° Longitude C) T8 90° MR &
D) It is the 180° Longitude D) TE 180° R &
10. | What is the chemical name of common salt that IIYRUT THD BT IR 15 T % o BH @rd %?
we eat? A) TIfSTH SEHEHT
A) Sodium bicarbonate B) ifsTH wiRTSS
B) Sodium chloride ) Aifeay AfeiRce
C) Sodium salicylate D mg@m’
D) Sodium hydroxide )
11. | The gland in the human body which secretes | ATd YRR | U N ToTSH 3R STHH a1 BT W
both enzymes and hormones is: CEGIRS
A) Liver A) Ipd
B) Pancreas B) W
C) Salivary gland C) AR Ui
D) Pituitary gland D) ﬁ—@@ﬁ IR
12. | Minorities Rights Day is observed in India on: YRA H T8I JUBR fGad Ha T[T o1l 57
A) 23" December B) 5" September A) 23 fedeR B) 5 Rydar
C) 1% December D) 18" December Q) 1 fedisR D) 18 fedsR
13. | Which Indian city has been chosen by the World | f&g HRdT TeR &1 fay d 3 309 9 ey w1
bank for setting up its back-office operations? & forw EGl 2
A) New Delhi B) Kolkata A) T8 faedi B) BHIABIAT
C) Chennai D) Bangalore C) TS D) STTAR
14. | The largest herbarium of India is located at: YR &1 Jag EEl AWl UG Fgl (=Id %?
A) Kolkata B) Lucknow A) BIFBTIAT B) T3
C) Mumbai D) Coimbatore C) 4as D)
15. | Molten rock below the surface of the earth is Tt B dg & 1 fUeeh g3 9 & g T ¥ o1 Fal
called? ST 82
A) Basalt B) Laccolith A) ST B) TapIfery
C) Lava D) Magma C) dra1 D) AT
16. | The Andaman is separated from Nicobar by | 3GHM &I FHER F 3 HH @l G HH™
which water body? fFafafea d Y oI g?
A) 11°channel B) 10° channel A) 11° 3 B) 10° <7
C) Palk Strait D) Gulf of Mannar C) Ui ¥e D) HR &I Wre!
17. | The Ghatampur Thermal Power Plant recently BTa &1 § shia-e gRI Tigd gIeHYR T UTeR Wiie
approved by Cabinet is to be setup in: 1 Bl R fHaT ST 82
A) Rajasthan A) ISR
B) Uttar Pradesh B) SR U
C) Karnataka C) Hfed
D) Madhya Pradesh D) A8 T
18. | What is Dakshin Gangotri? cferon TmE Rafetea & 9 o %?
A) River Valley in Andhra Pradesh A) 38 Te= H 7t grdt
B) Unmanned Station in Antarctica B) 3fcThiedT H HMg g WA
C) Second Source of River Ganga C) TR <} &1 g1 gid
D) Island in the Indian Ocean D) fée He™R H gy
19. | The International Judicial Conference 2020 was i TR FHEH 2020 T 3T 21 3 - 23
held from 21* — 23" February, 2020 in: 2020 do Fafafad & @ e fear
A) Tokyo B) New Delhi A) S B) s faccht
C) Paris D) Bangalore ) ufey D) SR
20. | Which city is called the Silver City of India? P Ter 31 YR o1 RieaR R Fg1 91 82
A) Jaipur B) Cuttack A) SIOQR B) hch
C) Kolkata D) Madurai C) BBl D) AgY%
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21. | Lord Buddha breathe his last at: AT g5 A Sifdw iy afead 7 9 fed WM W
A) Rajgir B) Bodh Gaya Ik
C) Sarnath D) Kushinagar A) ISR SEICKIR
C) IRATY D) SR
22. | Mahabalipuram was established by which HETSTIYRA b Moiae gRT MU fobam T oT?
dynasty? A) Tceid B) Usdl
A) Pallava B) Pandya o) ad D) AIIH
C) Chola D) Chalukya
23. | The Krishna Raja Sagara Dam (KRS Dam) is PN ISl YR 7Y (KRS STe) frg T = R@ 72
built across which river? A) T B) TGTa<t
A) Krishna B) Godavari C) AT D) PTaL
C) Mahanadi D) Kaveri
24. | Where is the Bandipur National Park? El'l’Cﬁ‘fR T@H I Hel Ud %‘?
A) Rajasthan B) Andhra Pradesh A) ISR B) 3iiY UG
C) Karnataka D) Assam C) Hlch D) 3H
25. | National Environmental Engineering Research QT@'C[ JgTaRur ZolifAafaT STHYT AR Hel [Yd g2
Institute is located at: A) gO1 B) o
A) Pune B) Delhi C) 4eg D) ANTYR
C) Mumbai D) Nagpur
26. | Araku Valley is a hill station and valley region g1el frg 3o | fRUd U fed @ 81k Trct
situated in which state? 33[?%?
A) Kerala B) Andhra Pradesh A) B B) 3fiYy USW
C) Karnataka D) Tamil Nadu C) Hlch D) AffeTg
27. | Hampi is a UNESCO World Heritage Site | g7 U W 3y sRigR =id § o Rufeiad f5g
located in which state? I R g2
A) Kerala A) B
B) Andhra Pradesh B) 3{iY UG
C) Tamil Nadu C) AfaTg
D) Karnataka D) Bl
28. | Rajiv is the brother of Atul; Sonia is the sister of | ITSild 3{d 1 TS §; A AT Bt 58 e; 3ddl
Sunil; Atul is the son of Sonia. How is Rajiv T 7 9T 21 Ioid T I g UpR Jefad g2
related to Sonia? A) HSIT/HIST B) OA
A) Nephew B) Son C) HTS D) fuar
C) Brother D) Father
29. | A pole is 90 m long. It is colored in white, black | Td W™ 90 Hiex & €| TE 5: 6: 7. b SJUTd & g,
and blue in the ratio of 5: 6: 7. What is the length | BT 3R el T F T & | T P b HNT D1 Tellg
of the white part of the pole? frat g2
A) 30m B) 15 m A) 30 | B) 15 HI
C) 20m D)25m Q20T D) 25 #t
30. | The simple interest accrued on an amount of Rs | 6 TTA & 3fd H 9530 TUYY P} AT TR 3ifold ATURTT
9530 at the end of 6 years is Rs 2850. What is the | ST 2850 TUY g | STl & Ufd=Id Ufaay o=m g2
rate of interest p.c.p.a? A)5 B) 7
A) S B)7 09 D) 11
C) 9 D) 11
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Section A Section B
Question [Correct |Question |Correct |Question |Correct
No. Answer |No. Answer |[No. Answer
1 C 36 C 1 C
2 B 37 B 2 B
3 C 38 D 3 A
4 B 39 A 4 B
5 A 40 D 5 B
6 D 41 C 6 C
7 D 42 D 7 C
8 A 43 B 8 C
9 C a4 D 9 D
10 D 45 B 10 B
11 B 46 A 11 B
12 C 47 D 12 D
13 A 48 A 13 C
14 B 49 C 14 A
15 B 50 B 15 D
16 A 51 B 16 B
17 C 52 C 17 B
18 B 53 A 18 B
19 A 54 D 19 B
20 A 55 B 20 B
21 A 56 C 21 D
22 B 57 B 22 A
23 C 58 A 23 D
24 D 59 D 24 C
25 A 60 C 25 D
26 D 61 B 26 B
27 B 62 A 27 D
28 C 63 A 28 B
29 A 64 D 29 D
30 A 65 B 30 A
31 C 66 A
32 B 67 B
33 D 68 C
34 C 69 A
35 A 70 B

GET IT ON
Google Play



